o Circle each row of sweets.

o vor 101 ser

How many rows are there?

There are | <. | rows.

o Circle each column of apples.

....

....

How many columns are there?

There are /| columns.

Lesson 1

o Make this array.
9000 @®
90000O

Complete the sentences.

a) There are| . |counters in each row.
—_—

There are rows.

~O

There are |' (") | counters altogether.

b) There are ;‘._ counters in each column.

There are = | columns.

There are {___'f counters altogether.

Make your own array.
How many rows are there?

How many columns are there?



o Complete the sentences.

Use the pictures to help you.

a)

Double 1 is

b)

Double 2 is

)

T

T

i

Double

B oo e

Lesson 2

Double | ) |is '| M

o Match the doubles to the additions.

Double 3 | 6 +6
N .
‘\. -'.'/
Double 6 | . o+ 7 +7
) '\A;/
Double 10 |- —— 1 343
Double 7 | 10+ 10
o Fill in the gaps.
a) Double 15 is }
b) Double 11is| 0 | [




Lesson 3

o Five children share some grapes.

o Rosie and Amir are sharing some sweets. -
&) o
Q000000000

a) Draw lines to share the grapes equally.

~N b) How many grapes does each child get?

08¢ 004 490 190 190 1D¢ 1D¢ 1D coch chld gets| ) | arepes.

10 grapes shared equally between 5 is

a) Draw lines to share the sweets equally.
Ron needs to share 20 bananas between

b) How many sweets does each child get? 5 boxes.

caaca
ceeq
aaq
qEQQ
(QEEG

Each child gets | |, | sweets.

How many bananas will there be in each box?

8 sweets shared equally between 2 is

20 bananas shared between 5 boxes is

There will be | |, | bananas in each box.




Lesson 4

o Here are some socks.

a) Draw lines to match the pairs of socks.

b) Complete the sentences.

There are socks altogether.
There are | socks in each pair.
There are | pairs of socks.

o Here are some counters.

a) Circle groups of 2

b) Complete the sentences.

There are /| counters altogether.

There are | | equal groups of 2 counters.

o Complete the sentences.

There are | | counters dltogether.

There are equal groups of | — | counters.




Inference Sums - Answers

Appetite
back *

Can't read +
poetry

Young boy

Print too
small

= the boy is in danger

= the giant needs glasses



